La multiplication de nombres relatifs

MUL + S
+ 4 —
— | =] *

+5 X +9 -
-8 X -4 =
-1 X +6 =
+/ X -1 =
-3 X +2 =




La multiplication de nombres relatifs

MUL 4+ —
+ + | —
= — | *
-1 X -5 =
+8 X +2 -
_4 X +2 =
-/ X +3 =
+3 X -9 =
+1 X -6 =




La multiplication de nombres relatifs

MUL o+ -
+ = | —
- — | =+
-4 X +9 =
+1 X +4 -
+8 x | +5 =
-5 X -6 =
-6 X -2 =
+3 X -7 =




La multiplication de nombres relatifs

MUL  + —
+ = | —
— | — | *
-/ X +1 =
-5 X -7/ =
+8 X +8 -
+9 X -4 =
-9 X +6 =
+3 X -2 =




La multiplication de nombres relatifs

MUL  + =
+ + | —
— | — | +*
-4 X -9 =
+7 X -3 =
-3 X -6 =
+1 x | +8 | =
+2 X +] =
-5 X +2 =




La multiplication de nombres relatifs

MUL o+ -
+ + | —
- — | =+
-4 X -/ =
-5 X +1 =
+9 X -9 =
-4 X +6 =
+6 X -2 =
+3 X +8 =




La multiplication de nombres relatifs

MUL o+ -
+ + | —
— | — | +
-7/ X -1 =
+/ X -4 =
-3 X -8 =
+8 X +6 -
+9 X +9 -
-5 X +2 =




La multiplication de nombres relatifs

MUL  + —
+ + | —
— | — | *
+6 X +9 -
-3 X -4 =
+2 X +5 -
+] X -/ =
-8 X +1 =
-3 X -2 =




La multiplication de nombres relatifs

MUL o+ =
+ + | —
— | — | +*
-2 X +/ =
+4 X +6 =
+H X -3 =
-8 X -5 =
+4 X -9 =
-6 X +1 =




La multiplication de nombres relatifs

TV A S —
+ + | —
— | — | *
+] X +8 =
-7/ X -4 =
-3 X +6 =
+/ X -8 =
-9 X -9 =
+b X +2 =




La multiplication de nombres relatifs

MUL  + —
+ + | —
— | — | *
+3 X -6 =
-9 X +2 =
-5 X -1 =
+2 X -/ =
+] X +3 =
-8 X +4 =




La multiplication de nombres relatifs

MUL o+ -
+ + | —
- — | =+
-4 X -6 =
+3 X +/ =
-6 X +2 =
+5 X -5 =
+8 X -4 =
-1 X +9 =




